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1. What is the maximum shear stress in the rivet? Also, show

that. ifr;, — rothen 7 . = 2(V/A). (20%)
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2. Given the state of plane stress shown in the figure, please use
force equilibrium equation to derive the stress transformation

formula o, ¢y in term of o, Gy, 1,, and & .(18%)
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3. Plot the Mohr’s circle for following stress states:
(a)ox=10Pa, 6, =1,,= 0,
(b) ox= 10 Pa, o, = -10 Pa, 1,,= 10 Pa,
(c) ox= 10 Pa, oy, = 10 Pa, 1,,= 10 Pa,
(d) ox= 10 Pa, 6, = 10 Pa, 1, = 0.

Mark the given stress state point in the Mohr’s circle.(12%)
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4. FBRIUE 4@ B8 SREEER BRIV ELEE S 2a B Mk
BEETIRGIE 4(0) - BRFEZBEFANS E FEETIHETE

(1) BEHAHC2%%H  LIEBiZE(Superposition method)RAMELHIR
TER71(10%) ;

(2) {EARERH(Energy method) REGGHBEHI R ERT 11(10%) |

(3) 4887 E K W AER(10%)

(4) SKEEREHRCP B AH FE1(Maximum tensile stress)(10%)

(5) IRVHREEHETRE - BUEXEBEERTHIE  SEEl
FEETH ? SRR A G%) -

(6) IORMEZIMETER - BUEREHBEERZN N  BEEm
SREEE R A B ? SR BARE(5%) ©
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Beam Slope Deflection
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